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red = to be replaced, green = to be inserted

page replace this text correct text

44 P (X < x) P (Y < x)

136 (2− 2ϑ){ϑ≤x≤1−ϑ} (1− 2ϑ){ϑ≤x≤1−ϑ}

136 (1− x− y)1{0≤x≤ϑ} (1− x− ϑ)1{0≤x≤ϑ}

136 (x− y)1{x>1−ϑ} (x− ϑ)1{x>1−ϑ}

134 (ϑ− x){x<1−ϑ} (1− ϑ− x){x<1−ϑ}

158
(1.41)

Fd(xd, λd|x1, . . . , xd−1) Fn(xn, λn|x1, . . . , xn−1)

195
(1.56)

ci−1,i|x1,...,xi−2
fi|x1,...,xi−1

(xi) ci−1,i|x1,...,xi−2
fi|x1,...,xi−2(xi)

193
(1.57)

n∏
i=2

i−1∏
k=1

ci−1,i|1,...,i−k−1fk(xi)
n∏
i=2

i−1∏
k=1

ci−1,i|1,...,i−k−1fi(xi)

192
(1.57)

(
n∏
i=2

k−1∏
k=1

ci−1,i|1,...,i−k−1

) (
n∏
i=2

i−1∏
k=1

ci−1,i|1,...,i−k−1

)

259 Q
d
= Q Y

d
= Q

317
(1.86)

f(1) := fR1
f(1) := f−fR1

337 where gTJ = 0 if TJ is empty where gTJ = 1 if TJ is empty

331 hRc1 = gT1 hR1
= gT1

3414 f23(x1, x3) f23(x2, x3)

4217 S ≤ U S ≤ I
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page replace this text correct text

436 L1(E,R, P ) L1(E,R, P )

438,9,10 P ∈ M̃ ; P ∈M P̃ ∈ M̃

455,7,13 M1(E,A) resp. M1(E,A) M1(E,A)

4813

(2.42)

M(Q,Pn+1) M(Q,Pn+1)

4812 M(A1 × · · · ×An) M(A1 × · · · ×An+1)

4812 sup
P∈M(Q,Pn+1)

sup
P∈M(Q,Pn+1)

496
n∑
i=1

(Fi(bi)− Fi(ai))
n∑
i=1

(
Fi(bi)−Fi(ai)−(n− 1)

)
+

634 (Rn, Bn); R1 (Rn,Bn); R1

722 VaRα

(
n∑
i=1

Xi

)
≤M−1n (α) VaRα

(
n∑
i=1

Xi

)
≥M−1n (α)

7519 λF
−1
i ◦ϕ = ϕF

−1
i λF

−1
i ◦ϕ = λF

−1
i

769 Mn(t) ≥ P (fα1 + · · ·+fαn ) ≤ t Mn(t) ≥ P (fα1 + · · ·+fαn ≤ t)

8110 and decreasing in t and increasing in t

837,9
n∑
i=1

Xi

n∑
i=1

xi

836
···
··· − d+ 1 ···

··· − n+ 1

846 inf
s∈[0,s/n]

∫
···

t−nr inf
r∈[0,s/n]

∫
···

s−nr

846 P

(
n∑
i=1

Xi≥s
)

P

(
n∑
i=1

Xi < s

)
8510 ≥ 1[s,∞) ≥ 1[s,∞)

(
n∑
i=1

xi

)

855 ga(x) :=


· · ·
· · · , if a ≤
· · ·

ga(x) :=


· · ·
· · · , if t ≤
· · ·

926 G be a d-dimensional G be an n-dimensional

9311 when d = 2 when n = 2

943 G and Ḡ G and 1−Ḡ
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page replace this text correct text

1466 X = L0 X = L0

15613 Q ∈M1 Q ∈M1

1718 L∞α (P ) L∞0 (P )

17313 Lemma 2.2 Lemma 2.3

1868 %(Y ) %(X)

21216 := sup
X̃i∼Xi

(both occurencies) := inf
X̃i∼Xi

2123 Then it it holds that: Then it holds that:

31813 Theorem 12.14 Theorem 12.12

3212 (Xc − d∗) (Xc − d∗)+

34512,11 (Ψf1 − (Ψf)1)1/2 (Ψf2 − (Ψf)2)1/2

34611 −(Ψf · 1Bδ) −Ψ(f · 1Bδ)

34713 (13.5) (13.50)

3471 (Gψu, . . . ) (Gk,ψu , . . . )

35010 VaR1−λ VaRλ

37816 −ν∗i (−[∞, x]c) −ν∗i (−(∞, x]c)

May 7, 2014 8:12


